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Direction:

Read the passage given below and answer the questionsthat follow based on it.

Foreign offices around the world have been taken by surprise by the dramaticdétente in India-China relations.
Narendra Modi and Xi Jinping have broken the Gordian knot after a four-year border standoff. The positions of both
sides have been consistent for the past four years. Delhi’'s message to Beijing has been, let’s go back to the way
things were on the border before we can think about what can be done about the bigger picture of the
relationship. China’s framework is akin to a package where the border and all round normalisation are interlinked. It
might seem that India’s position has prevailed because China has indeed agreed to take the first step in restoring
border stability. But a broader détente and normalcy is what China sought, and, the official statements from both
sides after the Modi-Xi meeting leave no doubt that a process towards comprehensive normalisation has now
commenced. Many have been surprised that China did not press home its advantages in the most contentious
friction points of Depsang and Demchok. The PLA hardliners, it is believed, did not want to budge. So what explains
China’s flexibility? For one, Beijing found an opportunity to gain an advantage over the US, who is doing everything
to unsettle not just its India ties but wrecking relations with several major non-western powers, almost
simultaneously. Second, a traditional Chinese geostrategy since the 1950s of neutralising peripheral or secondary
areas of threats to focus on primary security threats from the US in the Western Pacific shaped its decision. As for
India’s calculus, two big themes stand out. The US factor as a key geopolitical instrument for India’s China challenge
has not quite fulfilled the promise over the past decade. Even after 2020, the idea that the Ladakh crisis would
open unprecedented economic and geopolitical opportunities to broaden the partnership with the US did not
occur. The outbreak of multipolarity has thrown all previous calculations by the wayside. Since the Ukraine conflict,
US global geostrategy has shifted to Eurasian containment. India’s strategic autonomy or non-alignment is seen as a
major obstacle in this new phase of countering a multipolar world order. The repercussions have been felt in US-
India ties. Even in the Indo-Pacific, the US has doubled down on its core alliance partners in East Asia, with India’s
role becoming a more peripheral one insofar as core regional and continent-wide security questions are concerned.
This further reinforced the worldview in Delhi that a major adjustment was necessary to safeguard a range of Indian
interests and also to reposition India in a more advantageous position among the great powers. So the overall

timing was apt because both India and China have discovered that, despite their bilateral

Question No.1

What was India's main condition for resuming normal relations with China?
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Options:

1. Resolving trade issues

2. Restoring the border status quo

3. Allowing China to take control of the Ladakh region
4. Aligning foreign policies with the US

5. Strengthening military alliances
Answer : Restoring the border status quo

Direction:

Read the passage given below and answer the questionsthat follow based on it.

Foreign offices around the world have been taken by surprise by the dramaticdétentein India-China relations.
Narendra Modi and Xi Jinping have broken the Gordian knot after a four-year border standoff. The positions of both
sides have been consistent for the past four years. Delhi’'s message to Beijing has been, let’s go back to the way
things were on the border before we can think about what can be done about the bigger picture of the
relationship. China’s framework is akin to a package where the border and all round normalisation are interlinked. It
might seem that India’s position has prevailed because China has indeed agreed to take the first step in restoring
border stability. But a broader détente and normalcy is what China sought, and, the official statements from both
sides after the Modi-Xi meeting leave no doubt that a process towards comprehensive normalisation has now
commenced. Many have been surprised that China did not press home its advantages in the most contentious
friction points of Depsang and Demchok. The PLA hardliners, it is believed, did not want to budge. So what explains
China’s flexibility? For one, Beijing found an opportunity to gain an advantage over the US, who is doing everything
to unsettle not just its India ties but wrecking relations with several major non-western powers, almost
simultaneously. Second, a traditional Chinese geostrategy since the 1950s of neutralising peripheral or secondary
areas of threats to focus on primary security threats from the US in the Western Pacific shaped its decision. As for
India’s calculus, two big themes stand out. The US factor as a key geopolitical instrument for India’s China challenge
has not quite fulfilled the promise over the past decade. Even after 2020, the idea that the Ladakh crisis would
open unprecedented economic and geopolitical opportunities to broaden the partnership with the US did not
occur. The outbreak of multipolarity has thrown all previous calculations by the wayside. Since the Ukraine conflict,
US global geostrategy has shifted to Eurasian containment. India’s strategic autonomy or non-alignment is seen as a
major obstacle in this new phase of countering a multipolar world order. The repercussions have been felt in US-

India ties. Even in the Indo-Pacific, the US has doubled down on its core alliance partners in East Asia, with India’s
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role becoming a more peripheral one insofar as core regional and continent-wide security questions are concerned.
This further reinforced the worldview in Delhi that a major adjustment was necessary to safeguard a range of Indian
interests and also to reposition India in a more advantageous position among the great powers. So the overall

timing was apt because both India and China have discovered that, despite their bilateral

Question No. 2
What does the term "Gordian knot" in the passage most closely mean?
Options:

1. A simple issue

2. A complex problem

3. A military alliance

4. A peaceful agreement

5. A diplomatic stance
Answer : A complex problem

Direction:

Read the passage given below and answer the questionsthat follow based on it.

Foreign offices around the world have been taken by surprise by the dramaticdétentein India-China relations.
Narendra Modi and Xi Jinping have broken the Gordian knot after a four-year border standoff. The positions of both
sides have been consistent for the past four years. Delhi’s message to Beijing has been, let’s go back to the way
things were on the border before we can think about what can be done about the bigger picture of the
relationship. China’s framework is akin to a package where the border and all round normalisation are interlinked. It
might seem that India’s position has prevailed because China has indeed agreed to take the first step in restoring
border stability. But a broader détente and normalcy is what China sought, and, the official statements from both
sides after the Modi-Xi meeting leave no doubt that a process towards comprehensive normalisation has now
commenced. Many have been surprised that China did not press home its advantages in the most contentious
friction points of Depsang and Demchok. The PLA hardliners, it is believed, did not want to budge. So what explains
China’s flexibility? For one, Beijing found an opportunity to gain an advantage over the US, who is doing everything
to unsettle not just its India ties but wrecking relations with several major non-western powers, almost
simultaneously. Second, a traditional Chinese geostrategy since the 1950s of neutralising peripheral or secondary

areas of threats to focus on primary security threats from the US in the Western Pacific shaped its decision. As for
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India’s calculus, two big themes stand out. The US factor as a key geopolitical instrument for India’s China challenge
has not quite fulfilled the promise over the past decade. Even after 2020, the idea that the Ladakh crisis would
open unprecedented economic and geopolitical opportunities to broaden the partnership with the US did not
occur. The outbreak of multipolarity has thrown all previous calculations by the wayside. Since the Ukraine conflict,
US global geostrategy has shifted to Eurasian containment. India’s strategic autonomy or non-alignment is seen as a
major obstacle in this new phase of countering a multipolar world order. The repercussions have been felt in US-
India ties. Even in the Indo-Pacific, the US has doubled down on its core alliance partners in East Asia, with India’s
role becoming a more peripheral one insofar as core regional and continent-wide security questions are concerned.
This further reinforced the worldview in Delhi that a major adjustment was necessary to safeguard a range of Indian
interests and also to reposition India in a more advantageous position among the great powers. So the overall

timing was apt because both India and China have discovered that, despite their bilateral

Question No. 3
Why was China willing to be flexible in its stance, according to the passage?
Options:

1. To prevent India from aligning closely with the US
2. Due to internal economic pressures

3. To focus on US-related security concerns

4. Both (A) and (C)

5. None of the above
Answer : Both (A) and (C)

Direction:

Read the passage given below and answer the questionsthat follow based on it.

Foreign offices around the world have been taken by surprise by the dramaticdétentein India-China relations.
Narendra Modi and Xi Jinping have broken the Gordian knot after a four-year border standoff. The positions of both
sides have been consistent for the past four years. Delhi’s message to Beijing has been, let’s go back to the way
things were on the border before we can think about what can be done about the bigger picture of the
relationship. China’s framework is akin to a package where the border and all round normalisation are interlinked. It
might seem that India’s position has prevailed because China has indeed agreed to take the first step in restoring

border stability. But a broader détente and normalcy is what China sought, and, the official statements from both



0D
ixam Pees @

sides after the Modi-Xi meeting leave no doubt that a process towards comprehensive normalisation has now
commenced. Many have been surprised that China did not press home its advantages in the most contentious
friction points of Depsang and Demchok. The PLA hardliners, it is believed, did not want to budge. So what explains
China’s flexibility? For one, Beijing found an opportunity to gain an advantage over the US, who is doing everything
to unsettle not just its India ties but wrecking relations with several major non-western powers, almost
simultaneously. Second, a traditional Chinese geostrategy since the 1950s of neutralising peripheral or secondary
areas of threats to focus on primary security threats from the US in the Western Pacific shaped its decision. As for
India’s calculus, two big themes stand out. The US factor as a key geopolitical instrument for India’s China challenge
has not quite fulfilled the promise over the past decade. Even after 2020, the idea that the Ladakh crisis would
open unprecedented economic and geopolitical opportunities to broaden the partnership with the US did not
occur. The outbreak of multipolarity has thrown all previous calculations by the wayside. Since the Ukraine conflict,
US global geostrategy has shifted to Eurasian containment. India’s strategic autonomy or non-alignment is seen as a
major obstacle in this new phase of countering a multipolar world order. The repercussions have been felt in US-
India ties. Even in the Indo-Pacific, the US has doubled down on its core alliance partners in East Asia, with India’s
role becoming a more peripheral one insofar as core regional and continent-wide security questions are concerned.
This further reinforced the worldview in Delhi that a major adjustment was necessary to safeguard a range of Indian
interests and also to reposition India in a more advantageous position among the great powers. So the overall

timing was apt because both India and China have discovered that, despite their bilateral
Question No. 4

What has been the US's recent focus in global geopolitics?

Options:

1. Fostering closer ties with non-Western countries
2. Expanding influence in the Middle East

3. Containing Eurasian influence

4. Supporting a multipolar world order

5. Building relations with African countries
Answer : Containing Eurasian influence

Direction:
Read the passage given below and answer the questionsthat follow based on it.
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Foreign offices around the world have been taken by surprise by the dramaticdétentein India-China relations.
Narendra Modi and Xi Jinping have broken the Gordian knot after a four-year border standoff. The positions of both
sides have been consistent for the past four years. Delhi’'s message to Beijing has been, let’s go back to the way
things were on the border before we can think about what can be done about the bigger picture of the
relationship. China’s framework is akin to a package where the border and all round normalisation are interlinked. It
might seem that India’s position has prevailed because China has indeed agreed to take the first step in restoring
border stability. But a broader détente and normalcy is what China sought, and, the official statements from both
sides after the Modi-Xi meeting leave no doubt that a process towards comprehensive normalisation has now
commenced. Many have been surprised that China did not press home its advantages in the most contentious
friction points of Depsang and Demchok. The PLA hardliners, it is believed, did not want to budge. So what explains
China’s flexibility? For one, Beijing found an opportunity to gain an advantage over the US, who is doing everything
to unsettle not just its India ties but wrecking relations with several major non-western powers, almost
simultaneously. Second, a traditional Chinese geostrategy since the 1950s of neutralising peripheral or secondary
areas of threats to focus on primary security threats from the US in the Western Pacific shaped its decision. As for
India’s calculus, two big themes stand out. The US factor as a key geopolitical instrument for India’s China challenge
has not quite fulfilled the promise over the past decade. Even after 2020, the idea that the Ladakh crisis would
open unprecedented economic and geopolitical opportunities to broaden the partnership with the US did not
occur. The outbreak of multipolarity has thrown all previous calculations by the wayside. Since the Ukraine conflict,
US global geostrategy has shifted to Eurasian containment. India’s strategic autonomy or non-alignment is seen as a
major obstacle in this new phase of countering a multipolar world order. The repercussions have been felt in US-
India ties. Even in the Indo-Pacific, the US has doubled down on its core alliance partners in East Asia, with India’s
role becoming a more peripheral one insofar as core regional and continent-wide security questions are concerned.
This further reinforced the worldview in Delhi that a major adjustment was necessary to safeguard a range of Indian
interests and also to reposition India in a more advantageous position among the great powers. So the overall

timing was apt because both India and China have discovered that, despite their bilateral
Question No. 5

Which theme has emerged as a challenge in US-India relations, according to the passage?
Options:

1. India’s increasing alignment with Russia
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2. India's preference for strategic autonomy
3. India's desire to take a neutral stance on global conflicts
4. Both (B) and (C)

5. None of the above
Answer : Both (B) and (C)

Direction:

Read the passage given below and answer the questionsthat follow based on it.

Foreign offices around the world have been taken by surprise by the dramaticdétentein India-China relations.
Narendra Modi and Xi Jinping have broken the Gordian knot after a four-year border standoff. The positions of both
sides have been consistent for the past four years. Delhi’s message to Beijing has been, let’s go back to the way
things were on the border before we can think about what can be done about the bigger picture of the
relationship. China’s framework is akin to a package where the border and all round normalisation are interlinked. It
might seem that India’s position has prevailed because China has indeed agreed to take the first step in restoring
border stability. But a broader détente and normalcy is what China sought, and, the official statements from both
sides after the Modi-Xi meeting leave no doubt that a process towards comprehensive normalisation has now
commenced. Many have been surprised that China did not press home its advantages in the most contentious
friction points of Depsang and Demchok. The PLA hardliners, it is believed, did not want to budge. So what explains
China’s flexibility? For one, Beijing found an opportunity to gain an advantage over the US, who is doing everything
to unsettle not just its India ties but wrecking relations with several major non-western powers, almost
simultaneously. Second, a traditional Chinese geostrategy since the 1950s of neutralising peripheral or secondary
areas of threats to focus on primary security threats from the US in the Western Pacific shaped its decision. As for
India’s calculus, two big themes stand out. The US factor as a key geopolitical instrument for India’s China challenge
has not quite fulfilled the promise over the past decade. Even after 2020, the idea that the Ladakh crisis would
open unprecedented economic and geopolitical opportunities to broaden the partnership with the US did not
occur. The outbreak of multipolarity has thrown all previous calculations by the wayside. Since the Ukraine conflict,
US global geostrategy has shifted to Eurasian containment. India’s strategic autonomy or non-alignment is seen as a
major obstacle in this new phase of countering a multipolar world order. The repercussions have been felt in US-
India ties. Even in the Indo-Pacific, the US has doubled down on its core alliance partners in East Asia, with India’s
role becoming a more peripheral one insofar as core regional and continent-wide security questions are concerned.
This further reinforced the worldview in Delhi that a major adjustment was necessary to safeguard a range of Indian

interests and also to reposition India in a more advantageous position among the great powers. So the overall
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timing was apt because both India and China have discovered that, despite their bilateral

e Question No. 6
What has been the effect of multipolarity on India’s foreign policy, based on the passage?
Options:

1. Strengthening ties with the US

2. Increasing trade dependency on China

3. Reinforcing India’s need for strategic autonomy
4. Weakening India-China relations

5. Moving towards a unipolar global system
Answer : Reinforcing India’s need for strategic autonomy

Direction:

Read the passage given below and answer the questionsthat follow based on it.

Foreign offices around the world have been taken by surprise by the dramaticdétentein India-China relations.
Narendra Modi and Xi Jinping have broken the Gordian knot after a four-year border standoff. The positions of both
sides have been consistent for the past four years. Delhi’'s message to Beijing has been, let’s go back to the way
things were on the border before we can think about what can be done about the bigger picture of the
relationship. China’s framework is akin to a package where the border and all round normalisation are interlinked. It
might seem that India’s position has prevailed because China has indeed agreed to take the first step in restoring
border stability. But a broader détente and normalcy is what China sought, and, the official statements from both
sides after the Modi-Xi meeting leave no doubt that a process towards comprehensive normalisation has now
commenced. Many have been surprised that China did not press home its advantages in the most contentious
friction points of Depsang and Demchok. The PLA hardliners, it is believed, did not want to budge. So what explains
China’s flexibility? For one, Beijing found an opportunity to gain an advantage over the US, who is doing everything
to unsettle not just its India ties but wrecking relations with several major non-western powers, almost
simultaneously. Second, a traditional Chinese geostrategy since the 1950s of neutralising peripheral or secondary
areas of threats to focus on primary security threats from the US in the Western Pacific shaped its decision. As for
India’s calculus, two big themes stand out. The US factor as a key geopolitical instrument for India’s China challenge
has not quite fulfilled the promise over the past decade. Even after 2020, the idea that the Ladakh crisis would

open unprecedented economic and geopolitical opportunities to broaden the partnership with the US did not
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occur. The outbreak of multipolarity has thrown all previous calculations by the wayside. Since the Ukraine conflict,
US global geostrategy has shifted to Eurasian containment. India’s strategic autonomy or non-alignment is seen as a
major obstacle in this new phase of countering a multipolar world order. The repercussions have been felt in US-
India ties. Even in the Indo-Pacific, the US has doubled down on its core alliance partners in East Asia, with India’s
role becoming a more peripheral one insofar as core regional and continent-wide security questions are concerned.
This further reinforced the worldview in Delhi that a major adjustment was necessary to safeguard a range of Indian
interests and also to reposition India in a more advantageous position among the great powers. So the overall

timing was apt because both India and China have discovered that, despite their bilateral

Question No. 7
According to the passage, why did India feel the need to reposition itself globally?
Options:

1. To benefit from the US-China rivalry

2. To maintain economic stability

3. To safeguard Indian interests in a changing world order
4. To secure Western support

5. To prioritize relations with neighboring countries
Answer : To safeguard Indian interests in a changing world order

Direction:

Read the passage given below and answer the questionsthat follow based on it.

Foreign offices around the world have been taken by surprise by the dramaticdéentein India-China relations.
Narendra Modi and Xi Jinping have broken the Gordian knot after a four-year border standoff. The positions of both
sides have been consistent for the past four years. Delhi’'s message to Beijing has been, let’s go back to the way
things were on the border before we can think about what can be done about the bigger picture of the
relationship. China’s framework is akin to a package where the border and all round normalisation are interlinked. It
might seem that India’s position has prevailed because China has indeed agreed to take the first step in restoring
border stability. But a broader détente and normalcy is what China sought, and, the official statements from both
sides after the Modi-Xi meeting leave no doubt that a process towards comprehensive normalisation has now
commenced. Many have been surprised that China did not press home its advantages in the most contentious

friction points of Depsang and Demchok. The PLA hardliners, it is believed, did not want to budge. So what explains
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China’s flexibility? For one, Beijing found an opportunity to gain an advantage over the US, who is doing everything
to unsettle not just its India ties but wrecking relations with several major non-western powers, almost
simultaneously. Second, a traditional Chinese geostrategy since the 1950s of neutralising peripheral or secondary
areas of threats to focus on primary security threats from the US in the Western Pacific shaped its decision. As for
India’s calculus, two big themes stand out. The US factor as a key geopolitical instrument for India’s China challenge
has not quite fulfilled the promise over the past decade. Even after 2020, the idea that the Ladakh crisis would
open unprecedented economic and geopolitical opportunities to broaden the partnership with the US did not
occur. The outbreak of multipolarity has thrown all previous calculations by the wayside. Since the Ukraine conflict,
US global geostrategy has shifted to Eurasian containment. India’s strategic autonomy or non-alignment is seen as a
major obstacle in this new phase of countering a multipolar world order. The repercussions have been felt in US-
India ties. Even in the Indo-Pacific, the US has doubled down on its core alliance partners in East Asia, with India’s
role becoming a more peripheral one insofar as core regional and continent-wide security questions are concerned.
This further reinforced the worldview in Delhi that a major adjustment was necessary to safeguard a range of Indian
interests and also to reposition India in a more advantageous position among the great powers. So the overall

timing was apt because both India and China have discovered that, despite their bilateral

Question No. 8
What does the word "détente" mean as used in the passage?
Options:

1. A military strategy

2. A reduction in hostility
3. An economic pact

4. A trade agreement

5. A diplomatic summit
Answer : A reduction in hostility

Direction:

Read the passage given below and answer the questionsthat follow based on it.

Foreign offices around the world have been taken by surprise by the dramaticdétente in India-China relations.
Narendra Modi and Xi Jinping have broken the Gordian knot after a four-year border standoff. The positions of both

sides have been consistent for the past four years. Delhi’'s message to Beijing has been, let’s go back to the way
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things were on the border before we can think about what can be done about the bigger picture of the
relationship. China’s framework is akin to a package where the border and all round normalisation are interlinked. It
might seem that India’s position has prevailed because China has indeed agreed to take the first step in restoring
border stability. But a broader détente and normalcy is what China sought, and, the official statements from both
sides after the Modi-Xi meeting leave no doubt that a process towards comprehensive normalisation has now
commenced. Many have been surprised that China did not press home its advantages in the most contentious
friction points of Depsang and Demchok. The PLA hardliners, it is believed, did not want to budge. So what explains
China’s flexibility? For one, Beijing found an opportunity to gain an advantage over the US, who is doing everything
to unsettle not just its India ties but wrecking relations with several major non-western powers, almost
simultaneously. Second, a traditional Chinese geostrategy since the 1950s of neutralising peripheral or secondary
areas of threats to focus on primary security threats from the US in the Western Pacific shaped its decision. As for
India’s calculus, two big themes stand out. The US factor as a key geopolitical instrument for India’s China challenge
has not quite fulfilled the promise over the past decade. Even after 2020, the idea that the Ladakh crisis would
open unprecedented economic and geopolitical opportunities to broaden the partnership with the US did not
occur. The outbreak of multipolarity has thrown all previous calculations by the wayside. Since the Ukraine conflict,
US global geostrategy has shifted to Eurasian containment. India’s strategic autonomy or non-alignment is seen as a
major obstacle in this new phase of countering a multipolar world order. The repercussions have been felt in US-
India ties. Even in the Indo-Pacific, the US has doubled down on its core alliance partners in East Asia, with India’s
role becoming a more peripheral one insofar as core regional and continent-wide security questions are concerned.
This further reinforced the worldview in Delhi that a major adjustment was necessary to safeguard a range of Indian
interests and also to reposition India in a more advantageous position among the great powers. So the overall

timing was apt because both India and China have discovered that, despite their bilateral
Question No. 9
According to the passage, what external factor influenced China's decision to show flexibility towards India?

Options:

1. The desire to strengthen trade ties with India
2. Pressure from international peacekeeping organizations
3. The US’s increasing attempts to unsettle China’s relations with major non-Western powers

4. India's alignment with Western nations in security matters
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5. The growing economic competition with India
Answer : The US’s increasing attempts to unsettle China’s relations with major non-Western powers

Direction:

Read the passage given below and answer the questionsthat follow based on it.

Foreign offices around the world have been taken by surprise by the dramaticdétentein India-China relations.
Narendra Modi and Xi Jinping have broken the Gordian knot after a four-year border standoff. The positions of both
sides have been consistent for the past four years. Delhi’'s message to Beijing has been, let’s go back to the way
things were on the border before we can think about what can be done about the bigger picture of the
relationship. China’s framework is akin to a package where the border and all round normalisation are interlinked. It
might seem that India’s position has prevailed because China has indeed agreed to take the first step in restoring
border stability. But a broader détente and normalcy is what China sought, and, the official statements from both
sides after the Modi-Xi meeting leave no doubt that a process towards comprehensive normalisation has now
commenced. Many have been surprised that China did not press home its advantages in the most contentious
friction points of Depsang and Demchok. The PLA hardliners, it is believed, did not want to budge. So what explains
China’s flexibility? For one, Beijing found an opportunity to gain an advantage over the US, who is doing everything
to unsettle not just its India ties but wrecking relations with several major non-western powers, almost
simultaneously. Second, a traditional Chinese geostrategy since the 1950s of neutralising peripheral or secondary
areas of threats to focus on primary security threats from the US in the Western Pacific shaped its decision. As for
India’s calculus, two big themes stand out. The US factor as a key geopolitical instrument for India’s China challenge
has not quite fulfilled the promise over the past decade. Even after 2020, the idea that the Ladakh crisis would
open unprecedented economic and geopolitical opportunities to broaden the partnership with the US did not
occur. The outbreak of multipolarity has thrown all previous calculations by the wayside. Since the Ukraine conflict,
US global geostrategy has shifted to Eurasian containment. India’s strategic autonomy or non-alignment is seen as a
major obstacle in this new phase of countering a multipolar world order. The repercussions have been felt in US-
India ties. Even in the Indo-Pacific, the US has doubled down on its core alliance partners in East Asia, with India’s
role becoming a more peripheral one insofar as core regional and continent-wide security questions are concerned.
This further reinforced the worldview in Delhi that a major adjustment was necessary to safeguard a range of Indian
interests and also to reposition India in a more advantageous position among the great powers. So the overall

timing was apt because both India and China have discovered that, despite their bilateral

e Question No. 10
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Which statement accurately reflects the overall message of the passage?
Options:

1. India and China are unlikely to resolve their border issues

2. The US remains the strongest ally for India against China

3. The changing world order has led India and China to consider stability
4. India plans to align closely with China’s foreign policy

5. China’s recent moves indicate a desire for economic dominance over India
Answer : The changing world order has led India and China to consider stability

Direction:
Rearrange the sentencesto form a coherent paragraph and answer the questionsthat follow:

(A) Moreover, France has made substantial contributions to philosophy, literature, and the arts, with figures like

Voltaire, Sartre, and Monet shaping intellectual and cultural movements.

(B) Despite these modern developments, France continues to honor its traditions, blending its historical roots with

contemporary advancements.

(C) The country has been at the center of several significant historical events, including the French Revolution,

which fundamentally altered the nation's political landscape.

(D) Paris, its capital, attracts millions of tourists annually, drawn by landmarks like the Eiffel Tower, Notre Dame

Cathedral, and the Arc de Triomphe.

(E) France is renowned globally for its rich cultural heritage, from the masterpieces in the Louvre to its world-

famous cuisine and fashion industry.

(F) In recent years, France has also emerged as a leader in climate action, actively pushing for policies to address
global warming and environmental sustainability.

Question No. 1

Which of the following should be the Second sentence after rearrangement?

Options:
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1.B

2.A
3.C
4.D

5. E
Answer: C

Direction:
Rearrange the sentencesto form a coherent paragraph and answer the questionsthat follow:

(A) Moreover, France has made substantial contributions to philosophy, literature, and the arts, with figures like

Voltaire, Sartre, and Monet shaping intellectual and cultural movements.

(B) Despite these modern developments, France continues to honor its traditions, blending its historical roots with

contemporary advancements.

(C) The country has been at the center of several significant historical events, including the French Revolution,

which fundamentally altered the nation's political landscape.

(D) Paris, its capital, attracts millions of tourists annually, drawn by landmarks like the Eiffel Tower, Notre Dame

Cathedral, and the Arc de Triomphe.

(E) France is renowned globally for its rich cultural heritage, from the masterpieces in the Louvre to its world-

famous cuisine and fashion industry.

(F) In recent years, France has also emerged as a leader in climate action, actively pushing for policies to address
global warming and environmental sustainability.

Question No. 12

Which of the following should be the FIRST sentence after rearrangement?

Options:

1E
2.A

3.F
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4.C

5.D
Answer: E

Direction:
Rearrange the sentences to form a coher ent paragraph and answer the questionsthat follow:

(A) Moreover, France has made substantial contributions to philosophy, literature, and the arts, with figures like

Voltaire, Sartre, and Monet shaping intellectual and cultural movements.

(B) Despite these modern developments, France continues to honor its traditions, blending its historical roots with

contemporary advancements.

(C) The country has been at the center of several significant historical events, including the French Revolution,

which fundamentally altered the nation's political landscape.

(D) Paris, its capital, attracts millions of tourists annually, drawn by landmarks like the Eiffel Tower, Notre Dame

Cathedral, and the Arc de Triomphe.

(E) France is renowned globally for its rich cultural heritage, from the masterpieces in the Louvre to its world-

famous cuisine and fashion industry.

(F) In recent years, France has also emerged as a leader in climate action, actively pushing for policies to address
global warming and environmental sustainability.

Question No. 13

Which of the following should be the FOURTH sentence after rearrangement?

Options:

1A
2.B
3.C
4.D

5.F

Answer: D
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Direction:
Rearrange the sentencesto form a coherent paragraph and answer the questionsthat follow:

(A) Moreover, France has made substantial contributions to philosophy, literature, and the arts, with figures like

Voltaire, Sartre, and Monet shaping intellectual and cultural movements.

(B) Despite these modern developments, France continues to honor its traditions, blending its historical roots with

contemporary advancements.

(C) The country has been at the center of several significant historical events, including the French Revolution,

which fundamentally altered the nation's political landscape.

(D) Paris, its capital, attracts millions of tourists annually, drawn by landmarks like the Eiffel Tower, Notre Dame

Cathedral, and the Arc de Triomphe.

(E) France is renowned globally for its rich cultural heritage, from the masterpieces in the Louvre to its world-

famous cuisine and fashion industry.

(F) In recent years, France has also emerged as a leader in climate action, actively pushing for policies to address
global warming and environmental sustainability.

Question No. 14

Which of the following should be the FIFTH sentence after rearrangement?

Options:

1A
2.E
3.C
4.F

5.D
Answer: F

Direction:
Rearrange the sentencesto form a coher ent paragraph and answer the questionsthat follow:
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(A) Moreover, France has made substantial contributions to philosophy, literature, and the arts, with figures like

Voltaire, Sartre, and Monet shaping intellectual and cultural movements.

(B) Despite these modern developments, France continues to honor its traditions, blending its historical roots with

contemporary advancements.

(C) The country has been at the center of several significant historical events, including the French Revolution,

which fundamentally altered the nation's political landscape.

(D) Paris, its capital, attracts millions of tourists annually, drawn by landmarks like the Eiffel Tower, Notre Dame

Cathedral, and the Arc de Triomphe.

(E) France is renowned globally for its rich cultural heritage, from the masterpieces in the Louvre to its world-

famous cuisine and fashion industry.

(F) In recent years, France has also emerged as a leader in climate action, actively pushing for policies to address

global warming and environmental sustainability.

e Question No. 15
Which of the following should be the LAST sentence after rearrangement?
Options:

1.E

2.C
3.B
4.D

5.A
Answer: B

Direction:

Read the sentence to find out whether thereisany grammatical or idiomatic error init. Theerror, if any, will bein
one part of the sentence. Theletter of that part istheanswer. If thereis‘Noerror’, the answer is(5). (Ignoreerrors
of punctuation, if any).

e Question No. 16
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Despite the recent market downturn, (1)/ many investors remain optimistic (2)/ in the potential growth of

emerging markets (3)/ across the next decade.(4)
Options:

1.1

2.2
3.3
4.4

5. No error
Answer: 3

Direction:

Read the sentence to find out whether thereisany grammatical or idiomaticerror init. Theerror, if any, will bein
one part of the sentence. Theletter of that part istheanswer. If thereis‘Noerror’, the answer is(5). (Ignoreerrors
of punctuation, if any).

e Question No. 17

Although he had prepared well (1)/ for the interview, (2)/ he could not answered (3)/ several of the technical

questions (4)
Options:

11

2.2
3.3
4.4

5. No error
Answer: 3

Direction:

Read the sentence to find out whether thereisany grammatical or idiomatic error init. Theerror, if any, will bein
one part of the sentence. Theletter of that part istheanswer. If thereis‘Noerror’, theanswer is(5). (Ignoreerrors
of punctuation, if any).

e Question No.18
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The new manager, along with (1)/ his team members, have been (2)/ working diligently to improve (3) / the

company’s productivity.(4)
Options:

1.1

2.2
3.3
4.4

5. No error
Answer: 2

Direction:

Read the sentence to find out whether thereisany grammatical or idiomaticerror init. Theerror, if any, will bein
one part of the sentence. Theletter of that part istheanswer. If thereis‘Noerror’, the answer is(5). (Ignoreerrors
of punctuation, if any).

e Question No.19

With the growing demand for electric vehicles, (1) / automakers are investing heavily (2) / on research and

development (3)/ to improve battery technology.(4)
Options:

11

2.2
3.3
4.4

5. No error
Answer: 3

Direction:

Read the sentence to find out whether thereisany grammatical or idiomatic error init. Theerror, if any, will bein
one part of the sentence. Theletter of that part istheanswer. If thereis‘Noerror’, theanswer is(5). (Ignoreerrors
of punctuation, if any).

e Question No. 20
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The company’s profits (1)/ have grown steadily (2)/ since it launched (3)/ the new product last year.(4)
Options:

1.1

2.2
3.3
4.4

5. No error
Answer : No error

Direction:
Choose the correct meaning of theidiom in bold:

Question No. 21

"After months of struggling with the project, the team finally made significant progress and feels they areout of the

woods."
Options:

1. completed the project.

2. encountered a new problem.

3. overcome the difficult part of the situation.
4. still facing challenges ahead.

5. decided to abandon the project.
Answer : overcome the difficult part of the situation.

Direction:
Choose the correct meaning of theidiom in bold:

Question No. 22
"The report had more holes than Swiss cheese making it difficult to trust the conclusions drawn from it."

Options:



1. was very detailed and comprehensive.
2. had many flaws and lacked reliability.
3. was perfectly accurate and reliable.

4. was difficult to understand.

5. was written in a confusing manner.

Answer : had many flaws and lacked reliability.

Direction:
Choose the correct meaning of theidiom in bold:

Question No. 23

"At first, the proposal seemed unrealistic, but it turned out to bea blessing in disguise"

Options:

1. A surprising problem

2. An unexpected benefit
3. A lost opportunity

4. A minor inconvenience

5. A foolish decision

Answer : An unexpected benefit

Direction:
Choose the correct meaning of theidiom in bold:

Question No. 24

"She knew she was biting off more than she could chew when she accepted the new project."

Options:

1. Enjoying her work
2. Working without a break
3. Taking on too much

4. Refusing help from others

ixam
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5. Refusing help from others
Answer : Taking on too much

Direction:
Choose the correct meaning of theidiom in bold:

Question No. 25
"The politician tried to pass the buck when questioned about the scandal."
Options:

1. Accept responsibility
2. Shift the blame

3. Take quick action

4. Ignore the issue

5. Ask for a bribe
Answer : Shift the blame

Direction:

Thefollowing question carries one statement with one blank. Choose the most appropriate word from the optionsto
fill the blank.

Question No. 26

After months of negotiations, the two countries finally reached a agreement that is expected to

strengthen their economic ties.
Options:

1. fragile

2. tentative

3. permanent

4. comprehensive

5. None of these

Answer : comprehensive



0D
ixam Pees @

Direction:

Thefollowing question carries one statement with one blank. Choose the most appropriate word from the optionsto
fill the blank.

Question No. 27

Many experts believe that investing in renewable energy sources is essential for ensuring a future for

coming generations.
Options:

1. sustainable
2. temporary
3. futile

4. profitable

5. None of these
Answer : sustainable

Direction:

The following question carries one statement with one blank. Choose the most appropriate word from the optionsto
fill the blank.

Question No. 28

The company's decision to expand its operations overseas was met with from shareholders concerned

about the associated risks.
Options:

1. enthusiasm
2. apathy

3. skepticism
4. relief

5. None of these
Answer : skepticism

Direction:
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Thefollowing question carries one statement with one blank. Choose the most appropriate word from the optionsto
fill the blank.

e Question No. 29

The athlete’s performance in the championship left fans hopeful for his future in international competitions.

Options:

1. mediocre

2. stellar

3. lackluster

4. questionable

5. None of these
Answer : stellar

Direction:

Thefollowing question carries one statement with one blank. Choose the most appropriate word from the optionsto
fill the blank.

e Question No. 30

The scientists believe that their breakthrough could the future of renewable energy.

Options:

1. obscure

2. hinder

3. revolutionize
4. maintain

5. None of these
Answer : revolutionize

Direction:
Direction: What approximate value should come in the place of question (?) marksin the given question?

e Question No. 31
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Y27.014x(6.93)% - — = 4x+/B0.87 ++2208.95

JEaT

Options:

1.218
2.204
3.172
4,142

5.128
Answer : 128

Direction:
Direction: What approximate value should come in the place of question (?) marksin the given question?

e Question No. 32

A47.92% of 150.07 + v23.92 % 5.88="+ 52 Y%pof 899.79

Options:

1.34
2.37
3.4
4.48

5.56
Answer : 34

Direction:
Direction: What approximate value should come in the place of question (?) marksin the given question?

e Question No. 33

48.09% of 350.12 + V62.89 X 7.09=2 - 7% of 1200.15

Options:

%
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1.246
2.276
3.308
4.328

5.none
Answer : 276

Direction:
Direction: What approximate value should come in the place of question (?) marksin the given question?

e Question No. 34
\/2703.88 x /78415 - 262 = ? - (34.85)?
Options:

1.2005
2.1355
3.2085
4.3015

5. None of these
Answer : 2005

Direction:
Direction: What approximate value should come in the place of question (?) marksin the given question?

e Question No. 35
(1709.87 + 38.09) + (768.11 + 23.87) + (6599.81 + 88.06) = ?
Options:

1.128
2.152
3.202

4.216

0(6
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5. None of these
Answer : 152

Direction:

Direction: A company organizes an annual evaluation of employees across its five departments: Research,
Development, Finance, Marketing, and Operations. Each department has employees distributed among three
experience levels: Junior, Mid-Level, and Senior. The total number of employees across all departments is 600. The

following information is known about the distribution and experience levels of the employees in each department:

1. The Research department comprises 18% of the total employees, and within this department, the ratio of Junior to
Mid-Level to Senior employees is 3:4:2.

2. The Development department has 22% of the company's total employees, with Junior employees making up 40%,
Mid-Level employees 35%, and the rest Senior employees.

3. In the Finance department, which has 16% of the total employees, the Junior, Mid-Level, and Senior employees are
in the ratio 2:3:1, respectively.

4. The Marketing department has 26% of the company's total employees, with Junior, Mid-Level, and Senior
employees distributed in the ratio 5:4:3.

5. The Operations department includes the remaining employees, with 20% in the Junior level, 60% in the Mid-Level,

and the remaining employees in the Senior level.

Answer the following questions based on the above data.

e Question No. 36

Calculate the number of Mid-Level employees in the Research department, and if 50% of them are selected for a training

program, how many employees are selected from the Mid-Level of the Research department for this program?
Options:

1.32

2.24
3.36
4.45

5. None of these

Answer: 24
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Direction:

Direction: A company organizes an annual evaluation of employees across its five departments: Research, Development,
Finance, Marketing, and Operations. Each department has employees distributed among three experience levels: Junior,
Mid-Level, and Senior. The total number of employees across all departments is 600. The following information is known

about the distribution and experience levels of the employees in each department:

1. The Research department comprises 18% of the total employees, and within this department, the ratio of Junior to
Mid-Level to Senior employees is 3:4:2.

2. The Development department has 22% of the company's total employees, with Junior employees making up 40%,
Mid-Level employees 35%, and the rest Senior employees.

3. In the Finance department, which has 16% of the total employees, the Junior, Mid-Level, and Senior employees are
in the ratio 2:3:1, respectively.

4. The Marketing department has 26% of the company's total employees, with Junior, Mid-Level, and Senior
employees distributed in the ratio 5:4:3.

5. The Operations department includes the remaining employees, with 20% in the Junior level, 60% in the Mid-Level,

and the remaining employees in the Senior level.

Answer the following questions based on the above data.

e Question No. 37

What is the exact number of Senior employees in the Development department if the total employees in Development are

distributed among the experience levels based on the percentage distribution given?
Options:

1.26
2.28
3.24
4.33

5. None of these
Answer : 33

Direction:
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Direction: A company organizes an annual evaluation of employees across its five departments: Research, Development,
Finance, Marketing, and Operations. Each department has employees distributed among three experience levels: Junior,
Mid-Level, and Senior. The total number of employees across all departments is 600. The following information is known

about the distribution and experience levels of the employees in each department:

1. The Research department comprises 18% of the total employees, and within this department, the ratio of Junior to
Mid-Level to Senior employees is 3:4:2.

2. The Development department has 22% of the company's total employees, with Junior employees making up 40%,
Mid-Level employees 35%, and the rest Senior employees.

3. In the Finance department, which has 16% of the total employees, the Junior, Mid-Level, and Senior employees are
in the ratio 2:3:1, respectively.

4. The Marketing department has 26% of the company's total employees, with Junior, Mid-Level, and Senior
employees distributed in the ratio 5:4:3.

5. The Operations department includes the remaining employees, with 20% in the Junior level, 60% in the Mid-Level,

and the remaining employees in the Senior level.

Answer the following questions based on the above data.

e Question No. 38

In the Finance department, what is the total number of Junior employees, and if each Junior employee in Finance
completes 5 projects per year, what is the total number of projects completed by the Junior employees of the Finance

department in a year?
Options:

1.150
2.160
3.120
4.60

5. None of these
Answer : 160

Direction:
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Direction: A company organizes an annual evaluation of employees across its five departments: Research, Development,
Finance, Marketing, and Operations. Each department has employees distributed among three experience levels: Junior,
Mid-Level, and Senior. The total number of employees across all departments is 600. The following information is known

about the distribution and experience levels of the employees in each department:

1. The Research department comprises 18% of the total employees, and within this department, the ratio of Junior to
Mid-Level to Senior employees is 3:4:2.

2. The Development department has 22% of the company's total employees, with Junior employees making up 40%,
Mid-Level employees 35%, and the rest Senior employees.

3. In the Finance department, which has 16% of the total employees, the Junior, Mid-Level, and Senior employees are
in the ratio 2:3:1, respectively.

4. The Marketing department has 26% of the company's total employees, with Junior, Mid-Level, and Senior
employees distributed in the ratio 5:4:3.

5. The Operations department includes the remaining employees, with 20% in the Junior level, 60% in the Mid-Level,

and the remaining employees in the Senior level.

Answer the following questions based on the above data.

e Question No. 39

In the Marketing department, the total employees are divided among Junior, Mid-Level, and Senior levels based on the

given ratio. Calculate the difference between the number of Junior and Senior employees in the Marketing department.
Options:

1.28
2.26
3.24
4.30

5. None of these
Answer : 26

Direction:
Direction: A company organizes an annual evaluation of employees across its five departments: Research, Development,

Finance, Marketing, and Operations. Each department has employees distributed among three experience levels: Junior,
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Mid-Level, and Senior. The total number of employees across all departments is 600. The following information is known

about the distribution and experience levels of the employees in each department:

1. The Research department comprises 18% of the total employees, and within this department, the ratio of Junior to
Mid-Level to Senior employees is 3:4:2.

2. The Development department has 22% of the company's total employees, with Junior employees making up 40%,
Mid-Level employees 35%, and the rest Senior employees.

3. In the Finance department, which has 16% of the total employees, the Junior, Mid-Level, and Senior employees are
in the ratio 2:3:1, respectively.

4. The Marketing department has 26% of the company's total employees, with Junior, Mid-Level, and Senior
employees distributed in the ratio 5:4:3.

5. The Operations department includes the remaining employees, with 20% in the Junior level, 60% in the Mid-Level,

and the remaining employees in the Senior level.

Answer the following questions based on the above data.

e Question No. 40

In the Operations department, calculate the total number of Mid-Level employees, and if each of these Mid-Level
employees attends 5 workshops per month, what is the total number of workshops attended by all Mid-Level employees

in the Operations department in a year?
Options:

1. 2160

2.2800
3.3440
4.3888

5. None of these

Answer : 3888

e Question No. 41

A, B, and C started a business with a total investment of Rs. 8000, distributed in the ratio 1:4:3. After five months, A added

Rs. n to his initial investment, while C withdrew Rs. n. If the total profit for the year was Rs. 5000 and A's share of the profit
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was Rs. 2200, find the value of n.
Options:

1.3540
2.4320
3.3680
4. 4740

5. None of these

Answer : 4320

e Question No. 42

A shopkeeper allows a discount of 10% on the marked price and still makes a profit of 20%. If the marked price of the

article is Rs. 1,500, find the cost price of the article.
Options:

1. Rs. 1,125

2.Rs.1,200
3.Rs. 1,250
4.Rs. 1,350

5. None of these

Answer : Rs. 1,125

e Question No. 43

The simple interest on a sum of Rs. (6x + 100) for 4 years at 10% per annum is Rs. 1,200. Find the value of x.
Options:

1.525
2.530
3.435

4. 440
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5. None of these

Answer : None of these

e Question No. 44

A vessel contains 120 liters of a mixture of milk and water, with 75% of it being milk. If 30 liters of this mixture is replaced

by 30 liters of water, what is the new percentage of milk in the mixture?
Options:

1.56.25%
2.60%
3.65.55%
4.70%

5. None of these

Answer : 56.25%

e Question No. 45

A person invests Rs.15,000 in two different schemes. The first scheme offers simple interest at 10% per annum, and the
second scheme offers simple interest at 12% per annum. The total interest earned in 2 years from both schemes is Rs.3300.

Find the amount invested in the second scheme.
Options:

1. Rs.7500
2. Rs.8000
3.Rs.9000
4.Rs.10,000

5. None of these

Answer : Rs.7500

e Question No. 46
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A shopkeeper sells two articles for Rs.3000 each. On one, he gains 25%, and on the other, he loses 20%. What is the overall

percentage gain or loss?
Options:

1. 2.44% loss
2.3% gain
3.4.5% loss
4.5% gain

5. No gain, no loss

Answer : 2.44% loss

e Question No. 47

A and B together can complete a work in 20 days. After working together for 8 days, B leaves, and A completes the

remaining work in 16 more days. In how many days can B alone complete the entire work?
Options:

1.30 days
2. 40 days
3.50 days
4. 80 days

5. None of these

Answer : 80 days

e Question No. 48

Two pipes A and B are opened together to fill a tank. Both the pipes fill the tank in time “x”. If A separately takes 8 minute

more time than “x” to fill the tank and B takes 50 minute more time than “x” to fill the tank, then find the value of x ?
Options:

1. 36 minutes

2. 40 minutes
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3. 21 minutes
4.14 minutes

5. 35 minutes

Answer : 36 minutes

e Question No. 49

The compound interest on a certain sum for 2 years at 10% per annum is Rs. (x+420). The simple interest on the same sum
p

at the same rate for the same time is Rs. 600. Find the value of x.
Options:

1.200
2.230
3.240
4.210

5. None of these

Answer : 210

e Question No. 50

A merchant sold an article at 20% profit and bought another article with the proceeds. He then sold the second article at a

25% profit. If the original cost price was 5,000, what was the final selling price?
Options:

1.3%7,500

2.38,000
3.38,250
4.39,000

5.%9,250
Answer : 37,500

Direction:



IXam

0(6

Direction: A manufacturing company produces three products: A, B, and C. The following table summarizes the production

details for each product over a period of 5 months, including the cost price (CP), selling price (SP), and units produced each

month.
Product | Month 1 Month 2 Month 3 Month 4 Month 5 | Cost Price Selling
{Units) (Units) (Units) (Units) (Units) (CP) Price [SP)
A 100 120 130 110 150 2200 300
B 80 90 70 60 100 %250 %350
C 150 160 180 200 170 2300 500

e Question No. 51

Calculate the total units produced for each product over the 5 months. Based on this production data, determine the total

cost price and total selling price for each product. What is the overall profit or loss for the company?

Options:

1. Total Profit 320,000

2. Total Profit 273,000

3. Total Profit 280,000

4, Total Profit 300,000

5. Total Loss ¥210,000

Answer : Total Profit 273,000

Direction:

Direction: A manufacturing company produces three products: A, B, and C. The following table summarizes the production

details for each product over a period of 5 months, including the cost price (CP), selling price (SP), and units produced each

month.
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Product | Month 1 Month 2 Month 3 Month 4 Month 5 | Cost Price Selling
{Units) (Units) (Units) (Units) (Units) (CP) Price [SP)
A 100 120 130 110 150 2200 300
B 80 90 70 60 100 X250 %350
C 150 160 180 200 170 X300 500

e Question No. 52

0(6

If the company plans to increase the production of Product B by 20% in the next month while keeping the cost price the
same, what will be the new total production and the expected selling price for Product B? How does this affect the overall

profit?

Options:

1. a) New Production 480 units, Total SP ¥175,000
2. New Production 480 units, Total SP 180,000
3. New Production 480 units, Total SP 210,000
4. New Production 480 units, Total SP ¥168,000

5. New Production 480 units, Total SP $150,000

Answer : New Production 480 units, Total SP $168,000

Direction:
Direction: A manufacturing company produces three products: A, B, and C. The following table summarizes the production

details for each product over a period of 5 months, including the cost price (CP), selling price (SP), and units produced each

month.
Product | Month 1 Month 2 Month 3 Month 4 Month 5 | Cost Price Selling
(Units) (Units) (Units) (Units) (Units) (CP) Price (SP)
A 100 120 130 110 150 X200 300
B 80 50 70 60 100 2250 350
C 150 160 130 200 170 X300 500




e Question No. 53

If the company decides to offer a 10% discount on the selling price of Product A for a special promotion, calculate the new
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selling price for Product A. If all units produced are sold at this price, what will be the adjusted profit for Product A?

Options:

1. New SP %270, Adjusted Profit 20,000

2. New SP 3270, Adjusted Profit ¥42,700

3. New SP 3275, Adjusted Profit 40,000

4. New SP 3280, Adjusted Profit 60,000

5. New SP %260, Adjusted Profit ¥30,000

Answer : New SP 3270, Adjusted Profit 42,700

Direction:

Direction: A manufacturing company produces three products: A, B, and C. The following table summarizes the production

details for each product over a period of 5 months, including the cost price (CP), selling price (SP), and units produced each

month.
Product | Month 1 Wonth 2 Wonth 3 ionth 4 Month 5 | Cost Price Selling
{Units) (Units) (Units) (Units) (Units) (CP) Price [SP)
A 100 120 130 110 150 200 %300
B 80 90 70 60 100 X250 %350
C 150 160 180 200 170 2300 %500

Question No. 54

The company plans to introduce a new Product D with a cost price of 400 and a selling price of 600. If 200 units of

Product D are produced and sold, calculate the overall profit considering the introduction of Product D alongside existing

products.

Options:

1. Total Profit ¥435,000



2. Total Profit 345,000

3. Total Profit ¥355,000

4. Total Profit 313,000

5. Total Profit 375,000

Answer : Total Profit ¥313,000

Direction:

Direction: A manufacturing company produces three products: A, B, and C. The following table summarizes the production

details for each product over a period of 5 months, including the cost price (CP), selling price (SP), and units produced each

ixam

month.
Product | Month 1 Month 2 Month 3 Wonth 4 Month 5 | Cost Price Selling
(Units) (Units) (Units) (Units) (Units) (CP) Price (SP)
A 100 120 130 110 150 200 %300
B 80 S0 70 60 100 3250 %350
C 150 160 180 200 170 X300 %500

e Question No. 55

0(6

Assuming the selling prices of Products B and C are increased by 15% each due to increased demand, calculate the new

selling prices and determine the total profit after these adjustments, factoring in the selling price increases.

Options:

1. New Profit ¥370,000

2. New Profit 380,500

3. New Profit ¥358,500

4. New Profit $400,000

5. New Profit ¥410,500

Answer : New Profit ¥358,500

Direction:

Direction: Find the wrong number in given number series.



e Question No. 56

1460, 1443, 1430, 1415, 1404, 1395

Options:

1.1460
2.1404
3.1430
4.1395

5. None of these

Answer : 1430

Direction:

Direction: Find the wrong number in given number series.

e Question No. 57

169, 224, 293, 385, 497, 629

Options:

1.385
2.224
3.497
4.629

5. None of these

Answer: 224

Direction:

Direction: Find the wrong number in given number series.

e Question No. 58

1080, 1058, 1016, 934, 772, 440

ixam
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Options:

1.934
2.440
3.1058
4.1016

5. None of these

Answer : 440

Direction:

Direction: Find the wrong number in given number series.

Question No. 59

16, 36, 128, 768, 6144, 61440

Options:

1. 6144
2.768
3.36
4.128

5. None of these

Answer : 36

Direction:

Direction: Find the wrong number in given number series.

Question No. 60

1990,1877, 1794, 1711, 1638

Options:

1.1638

2.1877

ixam

0(6



IBPS PO Prelims (19th October 2024) Previous Year Paper

3.1794
4.171

5. None of these

Answer : 1877

Direction:

Direction: Number of Medals Won by Players from Three Countries (2018-2022)

. 0D
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e Question No. 61

Calculate the overall percentage increase in the number of medals won by players from Country A from 2018 to 2022. Then,

compare it with the overall percentage increase for Country C over the same period. What is the percentage difference in

their increases?

Options:

1.10%
2.15.5%
3.20%

4.16.67%
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— Prepare 5 0% Faster
5. None of these
Answer : 16.67%
Direction:
Direction: Number of Medals Won by Players from Three Countries (2018-2022)
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e Question No. 62

Find the average number of medals won by players from each country over the five years. What is the ratio of the average

number of medals won by Country B to the average won by Country A?

Options:

1.17:14
2.119:40
3.91:80
4.23:21

5. None of these

Answer : 91:80

Direction:
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Direction: Number of Medals Won by Players from Three Countries (2018-2022)
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e Question No. 63

In 2020, the number of medals won by players from Country B was what percentage of the total number of medals won by
players from all three countries in that year? Additionally, find the percentage difference between this value and the

percentage of medals won by players from Country A in the same year.
Options:

1.38.3%, 4.26%
2.33.33%, 5.62%
3.30.5%, 4.25%
4.25.45%, 7.21%

5. None of these
Answer : 38.3%, 4.26%

Direction:

Direction: Number of Medals Won by Players from Three Countries (2018-2022)
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e Question No. 64

Calculate the cumulative number of medals won by players from all three countries over the five years. If the number of
medals won by Country A had been 20% higher each year, how many additional medals would Country A have won by

2022?

Options:

1.130

2.140
3.150
4.160

5. None of these

Answer : 160

Direction:

Direction: Number of Medals Won by Players from Three Countries (2018-2022)
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e Question No. 65

For each year, the number of medals won by players increased for all three countries. Calculate the overall growth rate of

the total medals won by all three countries from 2018 to 2022.
Options:

1.60.5
2.54.05%
3.635

4. 65.06

5. None of these
Answer : 54.05%

Direction:
Study the following information car efully and answer the below questions

Six boxes- A1, B1, C1, D1, E1, and F1 are kept one above another in the stack. The lowermost box is numbered as one and the
topmost box is numbered as six. The boxes are of different colors - Red, Blue, Yellow, White, Green, and Pink. All the

information is not necessarily in the same order.
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Alis kept two boxes below the green box. Alis not kept in the lowermost position. The number of boxes kept above the
green box is the same as the number of boxes kept below the white box. B1is kept immediately below the box which is
kept three boxes above the white box. The red box is kept immediately above the Pink box. Alis neither Red nor Pink. E1is

kept two boxes above the yellow box. E1is not Green. D1is neither Green nor yellow. F1is kept above box C1.

Question No. 66

Which of the following box is Pink in color?
Options:

1. The box which is kept two boxes above F1

2. The box which is kept immediately below E1
3.Box C1

4. Box B1

5. Box F1
Answer : Box B1

Direction:
Study thefollowing information carefully and answer the below questions

Six boxes- A1, B1, C1, D1, E1, and F1 are kept one above another in the stack. The lowermost box is numbered as one and the
topmost box is numbered as six. The boxes are of different colors - Red, Blue, Yellow, White, Green, and Pink. All the

information is not necessarily in the same order.

A1is kept two boxes below the green box. Alis not kept in the lowermost position. The number of boxes kept above the
green box is the same as the number of boxes kept below the white box. B1is kept immediately below the box which is
kept three boxes above the white box. The red box is kept immediately above the Pink box. A1is neither Red nor Pink. E1is

kept two boxes above the yellow box. E1is not Green. D1 is neither Green nor yellow. F1is kept above box C1.

Question No. 67

Box Alisin___ color?
Options:

1. Red

2. White
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3. Yellow
4. Blue

5. Pink
Answer : Blue

Direction:
Study the following information carefully and answer the below questions

Six boxes- A1, B1, C1, D1, E1, and F1 are kept one above another in the stack. The lowermost box is numbered as one and the
topmost box is numbered as six. The boxes are of different colors - Red, Blue, Yellow, White, Green, and Pink. All the

information is not necessarily in the same order.

Alis kept two boxes below the green box. A1is not kept in the lowermost position. The number of boxes kept above the
green box is the same as the number of boxes kept below the white box. Bl is kept immediately below the box which is
kept three boxes above the white box. The red box is kept immediately above the Pink box. A1is neither Red nor Pink. E1is

kept two boxes above the yellow box. E1is not Green. D1 is neither Green nor yellow. F1is kept above box C1.

Question No. 68

Which of the following box is kept above the white color box?

I) The box which is kept immediately above B1
[1) Box F1

[11) The box which has a Yellow color

V) Box A1

Options:
1.Onlylandll
2.Only llland IV
3.Only Iland Il
4.0Only Il and IV
5.0nly land IV

Answer : Only I and Il

Direction:
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Study the following information carefully and answer the below questions

Six boxes- A1, B1, C1, D1, E1, and F1 are kept one above another in the stack. The lowermost box is numbered as one and the
topmost box is numbered as six. The boxes are of different colors - Red, Blue, Yellow, White, Green, and Pink. All the

information is not necessarily in the same order.

A1is kept two boxes below the green box. Alis not kept in the lowermost position. The number of boxes kept above the
green box is the same as the number of boxes kept below the white box. B1is kept immediately below the box which is
kept three boxes above the white box. The red box is kept immediately above the Pink box. Alis neither Red nor Pink. E1is

kept two boxes above the yellow box. E1is not Green. D1is neither Green nor yellow. F1is kept above box C1.

e Question No. 69

How many boxes are kept between D1 and the box which is Whitein color?
Options:

1. None
2.0ne
3. Four
4.Three

5.Two
Answer : Two

Direction:

Study the following information carefully and answer the below questions

Six boxes- A1, B1, C1, D1, E1, and F1 are kept one above another in the stack. The lowermost box is numbered as one and the
topmost box is numbered as six. The boxes are of different colors - Red, Blue, Yellow, White, Green, and Pink. All the

information is not necessarily in the same order.

Alis kept two boxes below the green box. A1is not kept in the lowermost position. The number of boxes kept above the
green box is the same as the number of boxes kept below the white box. B1is kept immediately below the box which is
kept three boxes above the white box. The red box is kept immediately above the Pink box. A1is neither Red nor Pink. E1is

kept two boxes above the yellow box. E1is not Green. D1 is neither Green nor yellow. F1is kept above box C1.

e Question No. 70
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Four of thefollowing are alike in a certain way. Which of the following one does not belong to the group?
Options:

1. D1- Pink

2. B1- Green

3.C1- Yellow
4. F1- white

5. E1- Blue
Answer : C1- Yellow

Direction:
Study the following information carefully and answer the questions given below:

In a certain code language,

‘optimism one to more” is written as ‘ops nhd ush gad’,
‘with more happiness other’ is written as ‘vax kiw uia ops’,
‘other happiness brian the’ is written as ‘Ipa vax ikf kiw’,

‘optimism to said brian’ is written as ‘uds nhd ush Ipa”.

Question No. 71
Which of the following may be the code for ‘optimism other to’?
Options:

1. vax nhd Ipa
2. ikf ush vax

3.nhd ush Ipa
4. nhd vax ush

5. Either (3) or (4)
Answer : nhd vax ush

Direction:
Study the following information car efully and answer the questions given below:

0(6



In a certain code language,

‘optimism one to more’ is written as ‘ops nhd ush gad’,

‘with more happiness other’ is written as ‘vax kiw uia ops’,

‘other happiness brian the’ is written as ‘Ipa vax ikf kiw’,

‘optimism to said brian”is written as ‘uds nhd ush Ipa”.

Question No. 72

What is the code for ‘One’?

Options:

1. ush
2.nhd
3. 0ps
4. gad

5. None of these

Answer : gad

Direction:

Study thefollowing information carefully and answer the questions given below:

In a certain code language,

‘optimism one to more” is written as ‘ops nhd ush gad’,

‘with more happiness other’ is written as ‘vax kiw uia ops’,

‘other happiness brian the’ is written as ‘Ipa vax ikf kiw’,

‘optimism to said brian”is written as ‘uds nhd ush Ipa”.

Question No. 73

What is the code for ‘Said’?

ixam
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Options:

1. lpa
2.nhd
3.uds
4. ikf

5. Can't be determined

Answer : uds

Direction:

Study the following information carefully and answer the questions given below:

In a certain code language,

‘optimism one to more” is written as ‘ops nhd ush gad’,
‘with more happiness other” is written as ‘vax kiw uia ops’,
‘other happiness brian the’ is written as ‘Ipa vax ikf kiw’,

‘optimism to said brian”is written as ‘uds nhd ush Ipa”.

Question No. 74
What is the code for ‘Optimism’?
Options:

1. nhd
2.ush
3. 0ps
4. uds

5. Can't be determined
Answer : Can't be determined

Direction:
Study the following information carefully and answer the questions given below:

In a certain code language,

ixam
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‘optimism one to more’ is written as ‘ops nhd ush gad’,
‘with more happiness other’ is written as ‘vax kiw uia ops’,
‘other happiness brian the’ is written as ‘Ipa vax ikf kiw’,

‘optimism to said brian”is written as ‘uds nhd ush Ipa”.

Question No. 75
What does ‘kiw’ stand for?
Options:

1. Happiness

2. Other

3. Brian

4. Either (1) or (3)

5. Either (1) or (2)
Answer : Either (1) or (2)

Direction:
Study the following information carefully and answer the below questions.

Eight persons are sitting around the circular table. Some of them facing inside and some of them facing outside the table.
No two persons facing the same direction sits adjacent to each other. G and H are sitting immediate left to each other.
Two persons sit between H and the person who sits opposite to E. F sits three places away from B who sits two places

away from E. A faces the person who sits two places away from C. D and C are not immediate neighbours.

Question No. 76

Who sitsfifth to the left of D?
Options:

1E
2.G

3.H
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4.C

5. None of these
Answer: C

Direction:
Study the following information car efully and answer the below questions.

Eight persons are sitting around the circular table. Some of them facing inside and some of them facing outside the table.
No two persons facing the same direction sits adjacent to each other. G and H are sitting immediate left to each other.
Two persons sit between H and the person who sits opposite to E. F sits three places away from B who sits two places

away from E. A faces the person who sits two places away from C. D and C are not immediate neighbours.

Question No. 77

How many persons sit between G and the person oppositeto D when counted from theright of G?
Options:

1.One
2.Two
3. Three
4. Four

5. Other than the given option
Answer : Other than the given option

Direction:
Study the following information carefully and answer the below questions.

Eight persons are sitting around the circular table. Some of them facing inside and some of them facing outside the table.
No two persons facing the same direction sits adjacent to each other. G and H are sitting immediate left to each other.
Two persons sit between H and the person who sits opposite to E. F sits three places away from B who sits two places

away from E. A faces the person who sits two places away from C. D and C are not immediate neighbours.

Question No. 78

Which of the following given statement is/are true?

|. G sits third to the right of the person who faces D



0D
ixamBee 2

I1. A faces the person who sits immediate left of E
I11. B sits opposite to the person who is third left from C
Options:

1. Only 1l

2.Both Il and Il
3.Bothlandlll
4. AllL land 1l

5. None of these
Answer : Only lll

Direction:

Study the following information car efully and answer the below questions.

Eight persons are sitting around the circular table. Some of them facing inside and some of them facing outside the table.
No two persons facing the same direction sits adjacent to each other. G and H are sitting immediate left to each other.
Two persons sit between H and the person who sits opposite to E. F sits three places away from B who sits two places

away from E. A faces the person who sits two places away from C. D and C are not immediate neighbours.

Question No. 79

Four of thefollowing fivearealikein a certain way and hence form the group. Which isthe one that does not belong to the
group?

Options:

1D
2.B
3.E
4.A

5.G
Answer: A

Direction:
Study the following information carefully and answer the below questions.
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Eight persons are sitting around the circular table. Some of them facing inside and some of them facing outside the table.
No two persons facing the same direction sits adjacent to each other. G and H are sitting immediate left to each other.
Two persons sit between H and the person who sits opposite to E. F sits three places away from B who sits two places

away from E. A faces the person who sits two places away from C. D and C are not immediate neighbours.

Question No. 80

In which of the following statement the third per son sits exactly between thefirst and the second person in the following
arrangement?

I.DHB

II.CFH

IN.EGA

Options:
1.Only |
2.0nly I
3.0nly lland lll
4. AllL land 1l

5. None of these

Answer : Only Il and llI

Direction:
Study the following information carefully and answer the below questions
Six persons- A, B, C, D, E, and F are sitting in the linear row facing the north. They are using different brand cars- Mahindra,

Honda, Skoda, Renault, Nissan, and Toyota but not necessarily in the same order.

The one who uses Renault sits third to the left of the one who sits second to the right of A. Only two persons are sitting
between A and C. The number of persons sitting to the left of C is the same as to the right of the one who uses Mahindra.

Only two persons sit between the one who uses

Mahindra and D. E sits third to the left of the one who uses Skoda. Neither D nor B uses Skoda. The one who uses Nissan

sits immediate left of the one who uses Toyota. A does not use Honda.
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e Question No. 81

Who among the following sits second to the left of C?
Options:

1. The one who uses Toyota
2. The one who uses Skoda
3. The one who uses Renault
4.B

5.A
Answer : The one who uses Toyota

Direction:
Study the following information car efully and answer the below questions

Six persons- A, B, C, D, E, and F are sitting in the linear row facing the north. They are using different brand cars- Mahindra,

Honda, Skoda, Renault, Nissan, and Toyota but not necessarily in the same order.

The one who uses Renault sits third to the left of the one who sits second to the right of A. Only two persons are sitting
between A and C. The number of persons sitting to the left of Cis the same as to the right of the one who uses Mahindra.

Only two persons sit between the one who uses

Mahindra and D. E sits third to the left of the one who uses Skoda. Neither D nor B uses Skoda. The one who uses Nissan

sits immediate left of the one who uses Toyota. A does not use Honda.

e Question No. 82

Four of the five among the following are similar in such a way to formsa group, who among the following doesn’t belong to
that group?

Options:

1.BA
2.DC
3.ED
4.AF

5.BC
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Answer :B C

Direction:
Study the following information carefully and answer the below questions
Six persons- A, B, C, D, E, and F are sitting in the linear row facing the north. They are using different brand cars- Mahindra,

Honda, Skoda, Renault, Nissan, and Toyota but not necessarily in the same order.

The one who uses Renault sits third to the left of the one who sits second to the right of A. Only two persons are sitting
between A and C. The number of persons sitting to the left of C is the same as to the right of the one who uses Mahindra.

Only two persons sit between the one who uses

Mahindra and D. E sits third to the left of the one who uses Skoda. Neither D nor B uses Skoda. The one who uses Nissan

sits immediate left of the one who uses Toyota. A does not use Honda.

Question No. 83

What isthe position of the one who uses Renault with respect to D?
Options:

1. Second to the right
2. Second to the left
3. Third to the left

4. Fourth to the left

5. None of the above
Answer : Second to the left

Direction:
Study the following information carefully and answer the below questions
Six persons- A, B, C, D, E, and F are sitting in the linear row facing the north. They are using different brand cars- Mahindra,

Honda, Skoda, Renault, Nissan, and Toyota but not necessarily in the same order.

The one who uses Renault sits third to the left of the one who sits second to the right of A. Only two persons are sitting
between A and C. The number of persons sitting to the left of C is the same as to the right of the one who uses Mahindra.

Only two persons sit between the one who uses
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Mahindra and D. E sits third to the left of the one who uses Skoda. Neither D nor B uses Skoda. The one who uses Nissan

sits immediate left of the one who uses Toyota. A does not use Honda.

e Question No. 84

Who among the following person sitsto theimmediate left of the one who usesthe Skoda car?
Options:

1. The one who sits immediate right of A
2. The one who sits third to the right of E
3.F
4.7

5.B
Answer : The one who sits immediate right of A

Direction:
Study the following information carefully and answer the below questions

Six persons- A, B, C, D, E, and F are sitting in the linear row facing the north. They are using different brand cars- Mahindra,

Honda, Skoda, Renault, Nissan, and Toyota but not necessarily in the same order.

The one who uses Renault sits third to the left of the one who sits second to the right of A. Only two persons are sitting
between A and C. The number of persons sitting to the left of Cis the same as to the right of the one who uses Mahindra.

Only two persons sit between the one who uses

Mahindra and D. E sits third to the left of the one who uses Skoda. Neither D nor B uses Skoda. The one who uses Nissan

sits immediate left of the one who uses Toyota. A does not use Honda.

e Question No. 85

If Bisrelated to Nissan and D isrelated to Honda in a certain way. Then, who among the following isrelated to Toyota?
Options:

1E
2. The one who sits immediate right of F

3.B
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4. The one who sits immediate left of B.

5. None of the above
Answer: E

Direction:
Study the following information car efully and answer the questions given below.

In a family, there are seven persons and four generations. D is married to the only daughter of B, who is the only son of A. Y
is the brother-in-law of D who has only one child. Z is the grandson of C, who is the mother of D. B has only two children. A

is a female member of the family. E is of the same generation as Y. D has no siblings.

Question No. 86

IfYismarried to A, howisB related to A?
Options:

1. Daughter-in-law
2. Mother-in-law
3. Father-in-law

4. Mother

5. Son-in-law
Answer : Father-in-law

Direction:
Study the following information carefully and answer the questions given below.

In a family, there are seven persons and four generations. D is married to the only daughter of B, who is the only son of A. Y
is the brother-in-law of D who has only one child. Z is the grandson of C, who is the mother of D. B has only two children. A

is a female member of the family. E is of the same generation as Y. D has no siblings.

Question No. 87

How many male membersaretherein the family?
Options:

1.3
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2.4
3.5
4.2

5. More than five
Answer: 4

Direction:
Study the following information carefully and answer the questions given below.

In a family, there are seven persons and four generations. D is married to the only daughter of B, who is the only son of A. Y
is the brother-in-law of D who has only one child. Z is the grandson of C, who is the mother of D. B has only two children. A

is a female member of the family. E is of the same generation as Y. D has no siblings.

e Question No. 88

How isA relatedto Y ?
Options:

1. Grandson

2. Granddaughter
3. Grandfather

4. Grandmother

5. None of these

Answer : Grandmother

e Question No. 89
Four of the following five letter clusters are alike in a certain manner and one is different. Select the one which is different.
Options:

1. EGC
2.VXB
3.JLH

4.5UQ
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5. YAW

Answer : VXB

Question No. 90

Four of the following five are alike in a certain way and so form a group. Which is the one that does not belong to that

group?
Options:

1. CAD
2.FDG
3.DBE
4.1GK

5.LJIM
Answer : IGK

Direction:
Read the directions car efully and answer the following questions.

Seven friends Krunal, Rohit, Dev, Hitesh, Ram, Anay, and Amar, visited to seven different cities among Lucknow, Pune,
Kolkata, Hyderabad, Jaipur, Nashik, and Mumbai, in seven different months, January, March, April, June, August, October

and December on the same day of the same week of year 2024.

Dev visited Lucknow in a month having 30 days. Two people visited between Dev and Anay, who visited after Dev.
Mumbai was visited before Jaipur, which was not visited by Anay. No one visited Nashik in October. Neither Pune nor
Nashik was visited in August. Amar visited Kolkata two months after Ram. Ram does not visit in June. Krunal visited
Hyderabad but not in April or October. Rohit visited four months before the person, who visited Nashik.

Question No. 91

Find the incorrect match.

Options:

1. Ram - Mumbai
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2. Hitesh - Nashik
3. Krunal - Jaipur
4. Amar - Kolkata

5. Dev - Lucknow
Answer : Krunal - Jaipur

Direction:

Read the directions car efully and answer the following questions.

Seven friends Krunal, Rohit, Dev, Hitesh, Ram, Anay, and Amar, visited to seven different cities among Lucknow, Pune,
Kolkata, Hyderabad, Jaipur, Nashik, and Mumbai, in seven different months, January, March, April, June, August, October

and December on the same day of the same week of year 2024.

Dev visited Lucknow in a month having 30 days. Two people visited between Dev and Anay, who visited after Dev.
Mumbai was visited before Jaipur, which was not visited by Anay. No one visited Nashik in October. Neither Pune nor
Nashik was visited in August. Amar visited Kolkata two months after Ram. Ram does not visit in June. Krunal visited

Hyderabad but not in April or October. Rohit visited four months before the person, who visited Nashik.

Question No. 92
How many persons visit a city between the one who visits Mumbai and one who visits a city in December?
Options:

1. One
2. Two
3. Three
4. Four

5. Five
Answer : Five

Direction:

Read the directions car efully and answer the following questions.

Seven friends Krunal, Rohit, Dev, Hitesh, Ram, Anay, and Amar, visited to seven different cities among Lucknow, Pune,
Kolkata, Hyderabad, Jaipur, Nashik, and Mumbai, in seven different months, January, March, April, June, August, October

and December on the same day of the same week of year 2024.
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Dev visited Lucknow in a month having 30 days. Two people visited between Dev and Anay, who visited after Dev.
Mumbai was visited before Jaipur, which was not visited by Anay. No one visited Nashik in October. Neither Pune nor
Nashik was visited in August. Amar visited Kolkata two months after Ram. Ram does not visit in June. Krunal visited

Hyderabad but not in April or October. Rohit visited four months before the person, who visited Nashik.
Question No. 93
Equal number of persons visit before the one who visits Kolkata as after whom among the following?

Options:

1. One who visits Lucknow.
2. One who visits Pune.

3. One who visits Nashik.
4. One who visits Jaipur.

5. One who visits Hyderabad.
Answer : One who visits Pune.

Direction:
Read the directions car efully and answer the following questions.

Seven friends Krunal, Rohit, Dev, Hitesh, Ram, Anay, and Amar, visited to seven different cities among Lucknow, Pune,
Kolkata, Hyderabad, Jaipur, Nashik, and Mumbai, in seven different months, January, March, April, June, August, October

and December on the same day of the same week of year 2024.

Dev visited Lucknow in a month having 30 days. Two people visited between Dev and Anay, who visited after Dev.
Mumbai was visited before Jaipur, which was not visited by Anay. No one visited Nashik in October. Neither Pune nor
Nashik was visited in August. Amar visited Kolkata two months after Ram. Ram does not visit in June. Krunal visited
Hyderabad but not in April or October. Rohit visited four months before the person, who visited Nashik.

Question No. 94

How many persons visit after the one who visits Nashik?

Options:

1.0ne
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2.Two
3. Three
4. Four

5. None
Answer : None

Direction:

Read the directions car efully and answer the following questions.

Seven friends Krunal, Rohit, Dev, Hitesh, Ram, Anay, and Amar, visited to seven different cities among Lucknow, Pune,
Kolkata, Hyderabad, Jaipur, Nashik, and Mumbai, in seven different months, January, March, April, June, August, October

and December on the same day of the same week of year 2024.

Dev visited Lucknow in a month having 30 days. Two people visited between Dev and Anay, who visited after Dev.
Mumbai was visited before Jaipur, which was not visited by Anay. No one visited Nashik in October. Neither Pune nor
Nashik was visited in August. Amar visited Kolkata two months after Ram. Ram does not visit in June. Krunal visited

Hyderabad but not in April or October. Rohit visited four months before the person, who visited Nashik.

Question No. 95
Who among the following visits Kolkata?
Options:

1. Ram

2. Krunal
3. Rohit
4. Dev

5. Amar
Answer : Amar

Direction:

Answer the questions based on the information given below:

Seven persons R, S, T, U, V, W and X have different heights and different weights. T is taller than S but shorter than W. U is
shorter than S but taller than V. The third shortest person is just lighter than the second shortest person. V is not the

shortest person. R is taller than S but not the tallest. R is heavier than T but not just heavier than T. Equal number of
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persons is heavier and lighter than the tallest person. The shortest person is heavier than the tallest person but he is not

the heaviest. S is lighter than U but heavier than the second tallest person.

e Question No. 96

___isthe second tallest person and is the third lightest person.

Options:

1R T
2.T,R
3R X
4.T,U

5. None of the above
Answer: T, R

Direction:
Answer the questions based on the infor mation given below:

Seven persons R, S, T, U, V, W and X have different heights and different weights. T is taller than S but shorter than W. U is
shorter than S but taller than V. The third shortest person is just lighter than the second shortest person. V is not the
shortest person. R is taller than S but not the tallest. R is heavier than T but not just heavier than T. Equal number of
persons is heavier and lighter than the tallest person. The shortest person is heavier than the tallest person but he is not

the heaviest. S is lighter than U but heavier than the second tallest person.

e Question No. 97
Who among the following person/persons are heavier than the fourth shortest persons?
LR
LT
. W
Options:

1.0nly II
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2.0nly land I
3.0nly land lll
4. Only Il and Il

5. Only Il
Answer : Only | and IlI

Direction:
Answer the questions based on the information given below:

Seven persons R, S, T, U, V, W and X have different heights and different weights. T is taller than S but shorter than W. U is
shorter than S but taller than V. The third shortest person is just lighter than the second shortest person. V is not the
shortest person. R is taller than S but not the tallest. R is heavier than T but not just heavier than T. Equal number of
persons is heavier and lighter than the tallest person. The shortest person is heavier than the tallest person but he is not

the heaviest. S is lighter than U but heavier than the second tallest person.

Question No. 98
How many persons are shorter than the second heaviest person?
Options:

1. Three
2. Five
3.Two
4. Four

5. None of the above
Answer : Two

Direction:
Read the directions car efully and answer the following question.

Question No. 99

In the given words, if the 379 and 6" (from the left end) letters are exchanged and same is done with 4h and 9t Ietters, 5
th and 10tM letters, then which series would form a meaningful word after rearrangement?

I. HRETIAGVSN
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[I. FLNESAGOMI
[11. EXSONHTIAU
Options:

1.Only land Il
2.Only lland Il
3.0nly land llI
4.0nly |

5.AllL ITand I

Answer : Only Il and llI

Question No. 100

If a four-letter meaningful English word is formed by using the 1st letter, the 3rd letter, the 5th letter and the 10th letter
(from the left end) of the word 'PERFORMANCE', then which of the following will be third letter of the word formed from
the right end. If more than one such meaningful word is formed mark 'Y' as your answer. If no meaningful word is formed,

mark 'Z' as your answer.
Options:

1.0
2.7
3.C
4.R

5Y
Answer: R
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